
                        sd               TrazenjeSlobodneKnjige

                              <<entity>>                      <<entity>>                       <<entity>>                        <<entity>> 
              NASLOV              KNJIGA              JE_REZERVISANA         DRZI 
    NadjiSlobodnu(IDCla,IDNas)
  
            loop   [sve knjige naslova IDNas]   
                   ImaRezervisanu(IDCla,IDKnj)
                                      JeLiRezervisana(IDCla,IDKnj)
                                      Rezervisana
                   Ishod
              break   [Ishod.Ima]
             

            alt    [Ishod.Ima]
                   <destroy>>(Ishod.IDKnj)
   Ishod

              loop    [sve knjige naslova IDNas]
                   ImaSlobodna(IDKnj)
                                      NijeIzdata(IDKnj)
                                      NijeIzdata

                                opt   [NijeIzdata]
                                      NijeRezervisana(IDKnj)
                                      NijeRezervisana
                   Ishod

                break   [Ishod.Ima]      

   Ishod

`


